P-1 (1+1+1) G /20 (N)
2020

PHYSICS (General)

Paper Code : I - A & B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : Il |A|& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : I - A
Full Marks : 15 Time

Answer all the questions.
Choose the correct answer.

Each question carries 1% marks.

1. The dimension of gravitational constant is —
(A) [ML T
(B) M L' T?]
(C) M L3 T2
D) M L* T7]
S | TEFAE &7 (G) 9 Tl TH—
(A) ML T
B) M L' T7]
(C) M L3 T7]
D) M L* T7]

2. If the earth suddenly contracts to half of its present radius,

be of —
(A) 6 Hours
(B) 5 Hours
(C) 4 Hours
(D) 3 Hours

: Thirty Minutes

the Day will then

2| 7R3 7 2ie Foe 2@ SE 20w I, 3 e rel =@ —

(A) 6 Hours
(B) 5 Hours
(C) 4 Hours
(D) 3 Hours
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3. If a wire is elongated by 1 mm under a tension of 100 dyne; the work done
will be —

(A) 10 erg
(B) 2 erg
(C) Serg
(D) 5.5 erg
© 1 100 TiZF BN L0 FF (PG O Imm (0 I w11 2061 PR T
T —
(A) 10 erg
(B) 2 erg
(C) Serg
(D) 5.5 erg

4. The ratio of rate of flow of a liquid through two narrow tubes having radii of

cross-section in the ratio 2:1 and pressure difference of the ends in the ratio
1:2 will be —

(A) 81
(B) 1:8
©) 14
D) 41
8 | 730 I AR JPNE-9F SIS 2:1 G 43 UTF b7l AILF-97 S2le 1:2
(el SYrA fowd Wi SRt 2Ited R SIgil® 203 —
(A) 8:1
(B) 1:8
©) 14
D) 41
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. . . t .
5. The velocity of the progressive wave y = 6sin 21 [m — %] will be—

(A) 1100 cm/s
(B) 1100 m/s
(C) 1200 cm/s
(D) 1200 m/s

X

. t
¢l y=6sm2n[m—a] 7 AFIRS SeTeard (@69l TE —

(A) 1100 cm/s
(B) 1100 m/s
(C) 1200 cm/s
(D) 1200 m/s

6. 1 Decibel = how much Bel ?
(A) 10

B) 1
(C) 100

(D) 0.1
vl 1 (B = F© (@& ¢
(A) 10

B) 1
(C) 100

D) 0.1
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7. What will be the angle of twist at the end of the wire of length L and radius
R when torque C is applied at one end, the other end being fixed ?

TET]R4
2LC

(A) ¢=

2LC
TET]R4

(B) ¢=

2L

© o= nnCR4

4L

@) ¢= nnCR4

9| L M @32 R [OE-a9 a6 ©Ed O At C 5F oAl w9 IW S

Y[ W7 ACF ©RA S (\6T (Sl () 267 —

® b=
(© 6- nz(fR4
O b=—g
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8. A=i(x+3y)+j(y—2z)+k(x+b-z) is a solenoidal vector. The value of
b=—
(A) =2
B) 2
©) 3
D) -3

—

vl A :f(x+3y)+}(y—22)+/€(x+b~z) @30 AT (9; b-937 v
Q_cof J—
(A) -2
(B) 2
©) 3
(D) -3
9. The time taken by a body to move through a frictionless tunnel passing through

the centre of the earth from one end to another end will be [radius = 6400
km and g = 9.8 m/s?*] —

(A) 42 min. 19 sec.
(B) 21 min. 19 sec.
(C) 84 min. 38 sec.
(D) 84 sec.

1 R @A TR FTER N (A TEF 9T AT (AF O ATF (@O
N AE— [N (radius) = 6400 km @ Sifeds 939 (g) =9.8m/s? | —

(A) 42 min. 19 sec.
(B) 21 min. 19 sec.
(C) 84 min. 38 sec.
(D) 84 sec.

Page : 7 of 12



10. The value of V.7 is —
A) 7
(B) 11
(© 2
(D) 3

So| V-7 49 e 2o —
A) 7

(B) 11
© 2
(D) 3
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P-1 (1+1+1) G /20 (N)
2020

PHYSICS (General)

Paper Code : 1 - B
[New Syllabus]

Full Marks : 30 Time : One Hour Thirty Minutes
The figures in the margin indicate full marks.
Answer three questions taking one from each group.
Group - A
[Mechanics and Oscillations|

1. (a) A particle is moving on a plane with a velocity v and acceleration 4 .
Find its radial and transverse components of that velocity and acceleration.

(b) Find the value of ﬁ(rn;). 6+4

2. (a) Find moment of force about a point (f —2j+4 lé) of the force represented
by (f +2)+ 313) acting through the point (—2f 37+ IQ)

(b) Find an expression for the moment of inertia of a uniform solid cylinder
of mass M and length L about an axis passing through the centre of mass
of the cylinder and perpendicular to its own axis of symmetry. 4+6

3. (a) A particle is subjected to two mutually perpendicular simple harmonic
motions having same period but different amplitudes and phases. Show
that the resultant motion of the particle, in general, is elliptic.

(b) Establish the differential equation for a particle executing damped harmonic
motion. 6+4

Page : 9 of 12



Group - B
[General Properties of Matter]
4. (a) Describe the “molecular theory” of surface tension of a liquid.

(b) Find the expression for excess pressure acting inside a curved membrane.
4+6

5. (a) Prove Y =3K (1 - 20); where the symbols have their usual meaning in
elasticity.
(b) A small oil-drop is falling through air with terminal velocity 4 x107* m/s.

Given the coefficient of viscosity and density of oil as 1.8x107> Ns/ m>

and 900 kg/m* respectively, calculate the radius of the oil-drop ignoring
the density of air. 5+5

Group - C
[Waves and Acoustics]

6. (a) Prove that for a plane progressive sound wave, the intensity is directly
proportional to the square of the amplitude.

(b) Deduce an expression for the velocity of transverse sound waves in a
stretched string. 4+6

7. (a) If the length of a sonometer wire be doubled, how will you adjust the
tension such that the frequency of vibration of the wire remains the same ?

(b) Two sound waves having wavelengths 50 cm. and 50.5 cm. are making
6 beats per second in a gaseous medium. What is the velocity of sound
in that medium ?

(c) What is Doppler effect ? 4+4+2

Page : 10 of 12



BEGAIG
AroiF ol (AT @I I @6 foald arsiw Teq nie |

Tt - =
(T @ i)

31 (F) G5 IEFN MO v aiferds @R ¢ G399 fHeg «ifedtiet | 329 sifer=al
@ GO AT 8 T2 Soficsafer faef el

(%) 5-(#“7) -qF e fefa et v+8

21 () (f+2}+3/€) =15 (—25—3}+1€) o fc ferariren | (i—2j+4/€)
g AT o7 Qs ey e |

(4) @A =0 Ited ©F M @32 ) L @32 (Blels 72 eigeeen {3 |
®rels e Aoty orwg o9 @3 SAEHANT GF0 SEFF ACATE

TR | I SO ACATT (G16fb erwel @l et et Soisiie
AT 8+Y

o | (F) AN @R T fon [wE ¢ wig v2t w=el @renife 3t Fim

Toig o erifol 2l s ol s | orive (@ 3elifb wfdeife
ARSI oI |

(%) @36 e (AeTalfod SR ARFe AfeD I | v+8

Tt - 9
GRS ERANIELIER)

8 | (F) SACH “PoIF-97 SWg WG el iyl Wi |

(4) (P IF ST (membrane) STSISE SIfSRHE bitoi Af*aa e
AN 8+Y

Page : 11 of 12



€ (F) A9 N Y = 3K (1-20); (@A el Ffogseon epfre @y
LTS |

(4) @36 Fu toe-RM 4x10 m/s A& @t o AroeR ey fem
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